[ > restart

f%ﬁ‘ U+3Y 4 5¢° Ylo)= 2

&
éa: 6/1{‘46%“6{_:

{fo)=-2

Sistema = diff (y;(1), t) =2-y,(t) +3-y,(t) +5-exp( 2t), diff (y,(1), t) =y;(t) +4-y,(1)

—6-exp(-t) : Sstema,; Sstema,
% y (1) =2y, (t) +3y,(t) +5 €

% Yo(t) =y (1) +4y,(t) —6€"

Condiciones:= y,(0) =3,Yy,(0) =-2
Condiciones:=y;(0) =3,y,(0) =-2

Solucion := dsolve( { Sstema, Condiciones}) : Solucion;; Solucion,

_94_ 18 s, 10 2t 3
Bt)= -, €+3 & 5 e
_ 34 135, 3 1 5 a
Y)=-y - €+ 3e2
AA:= array([[2, 3], [1, 4]])
123
14
Ycero := array([3,-2])
Ycero::[3 —2]
Btau := array([5-exp( 2tau),-6-exp( -tau) ])
Btau::[5e21 _ae‘f]
with(linalg) :
MatExp := exponential (AA, t)
3 t+, 1 5t 3 5t 3
4 e+ 4 e 4 e 4 e
MatExp := 1 1 1 3
1 5t 1 ¢ 1+, O 5t
4 e 4 e 4 e+ 4 e

MatExpTau := exponential (AA, t — tau)
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i t—1 i 5t—57 i 5t—51’ 3 t—7
4€ Tg€ 4 4 ©
MatExpTau := 1 1 1 3 €))
4 Hpt—5t L1 -1 {—t, © DHSt—571
4 e 4 e 4 e '+ 4 e
[ > MatBtau := simplify(evalm(MatExpTau &* Btau) ) : MatBtau,; MatBtau,
E g+t é —31+5t_g -67+ 5t g 2T+t
4 e+ 4 e > e + > e
é —3’C+5t_§ ’C+t_§ —21+t_g -67+ 5t
] 4 e 4 e > e > e 9
> IntMatBtau := map(int, MatBtau, tau=0.t) : IntMatBtaul; IntMatBtau2
RS A SR T 10 t -
2 © 3 &'~
1 st d_ 5 t 3 -
] -5 €t 2 f+ 5 € (10)
> Ceros:= map(rcurry(eval, t=0"), IntMatBtau)
Ceros:=| 0 0| (11)
[ > SOL := evalm(evalm(MatExp &* Ycero) + IntMatBtau) 'yyl( ) —SOLl; yY,(t) =SOL,
_9 4+ 13 Sty 10 t -
Wi(t) = €= 5 -
_ 3+ 13 st ot 5 t
i Wolt) ==~ d=0 €+ 2 e (12)
> Solucion;; Solucion,
_9 4+ 13 Sty 10 t 3 -
n=,¢€-79, -
__3 4_ 13 st i St S 2t
Yo(t) = 4e 12e +2e 3e2 (13



